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Paragraph 1., amend to read (including the addition of a new footnote 1/): 
 
“1.  SCOPE 
 

This Regulation applies to the approval of vehicles of categories L, 
M and N. 1/ 
 

__________________ 
 
1/ As defined in annex 7 of the Consolidated Resolution on the Construction of 
Vehicles (R.E.3) (document TRANS/WP.29/78/Rev.1/Amend.2)." 
 
Paragraph 2.5., the reference to  footnote */ and footnote */, renumber as 
footnote 2/. 
 
Paragraph 4.4.1., the reference to footnote 1/ and footnote 1/ (former), 
renumber as footnote 3/. 
 
Paragraph 5.1.5., should be deleted. 
 
Annex 3, paragraph 2., amend to read:  
 
  “........ 
 
  In the case of vehicles of categories M and N: 
 
   0 < (V1 – V2) < 0.1 V2 + 6 km/h; 
 
  In the case of vehicles of categories L3, L4 and L5: 
 
   0 < (V1 – V2) < 0.1 V2 + 8 km/h; 
 

In the case of vehicles of categories L1 and L2: 
 
   0 < (V1 – V2) < 0.1 V2 + 4 km/h.” 
 
 

________ 


